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ECE 3055 Quiz - April 13, 2011
1. A ____context______________  ____switch___________ is the name for the task in an Operating System that saves the process state to stop running a process, and restores it to run a different process on the CPU. It does not include the code with the scheduling algorithm that decides which process to run next.
2. How would code in an application typically (i.e., not an error) do something that causes the mode bit to change?
OS API call that jumps to kernel code

3. List the three most common types of events (i.e., not errors and likely to occur in any application) that will move a process out of the CPU run state.

A. Time slice interrupt
B. API call for I/O
C. Process Terminates
4. Which OS queue would a long I/O  bound process on a system that is not running other CPU intensive processes be likely to spend the majority of its time in the system  (explain)?

I/O wait queue – it would spend the majority of the time waiting for slow I/O devices and not the CPU.
5. In a modern OS, what hardware feature would stop a program running with an infinite loop error so that other process can also run? (Explain including a short functional description of how it would be physically implemented using common digital hardware components)

A time slice interrupt would occur and stop the process. In hardware, a programmable count down timer is used that generates the interrupt signals when the count reaches zero. The counter is reset each time a new process starts running.

